## BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Ltd.)
Office of the General Manager, Govindpur Area
P.O. Sonardih, Dist. Dhanbad

Ref. No. GM/AR-III/ACE/Tender/

13037-64

SHORT TENDER NOTICE

Dated 11.09.2009

Sealed tenders are invited from registered and experienced contractors for the following works:-

SI. No.	Name of work	Estimated cost (in Rs.)	Earnest Money	Cost of tender paper Rs.250/-	Time of completion	
1.	Development work of Area Guest House, Area-3.	3,21,368.42	1%		2 months	

Eligibility Criteria:-1 (a) The average annual financial turnover during the last three years ending 31st March of the previous year should be atleast 30% of the estimated cost. (b) Experience of having successfully completed similar works during last 7 (seven) years ending last day or month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following. (C) (i) Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.(ii) Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.(iii) One similar completed works each costing not less than the amount equal to 80% of the estimated cost. 2) J.S.T. Clearance certificate 3) Permanent Account number of Income Tax.

The tender will be received on dated 24.09.2009 upto 3.00 p.m. in two parts and will be opened on the same day upto 3.30 p.m. in the presence of tenders or their authorised agents.

Without earnest money tender will be rejected. The tenderers are required to deposit the E.M. in the shape of demand draft or M.R. of Govindpur Area.

The bill of quantity will have to obtained from office of the undersigned on production of M.R. upto 23.09.2009.

Authority is reserved to reject any or all the tenders without assigning any reason whatsoever.

It will be obligatory for the tenders to keep their offer for a period of 120 days from the date of opening of the tender.

Sale-Tax will be deducted as per rule from the bill of the Contractor. No conditional tender paper will be accepted.

No materials will be supplied to the contractor for doing this work.

The contractor will have to abide by all labour rules of the country/state.

Area Civil Engineer, RGovindpur Area

C.C. to :-

- 1) Addl. GM, Govindpur Area.
- 2) AFM Govindpur Area,
- 3) All Project Officers, Govindpur Area.
- 4) C.G.M/G. M., Area 1 to 12, E.J. Area, W.J.Area, W.W.Z Ropeways.
- 5) G.M. (Const), Koylanagar, Dhanbad.
- 6) Notice Board
- Builders Association of India, 16 LIG Housing Colony Dhanbad / Near Akashkinaree Weighbridge, P.O. Katrasgarh.
- 8) C.V.O, B.C.C.L, Koyla Bhawan.
- 9) General Manager (System), Koyla Bhawan, Dhanbad.

## Bill of Quantity for the work of "Development work of Area Guest House, Area-3."

SI.	Particulars of the work	Unit of	Estimated	B.C.C.L	Amount
No.		Qnty.	Qnty. of Work	scheduled rates	(in Rs.)
1	Distempering with O.B. distemper.	M <sup>2</sup>	445.0	14.90	6630.50
2	Wall painting with plastic paint	M <sup>2</sup>	283.54	25.85	7329.50
3	Colour washing two coats.	$M^2$	431.8	9.30	4015.74
4	Applying water proofing cement paint.	M <sup>2</sup>	41.5	27.95	1159.92
5	Polishing with wax polish.	$M^2$	9.18	18.25	167.53
6	Wood work in fram sal wood.	M <sup>3</sup>	0.071	30511.90	2166.34
7	P/L 15cm wide pelmet.	M	6.97	208.70	1454.63
8	P/L 4 course water proofing treatment with bitumen felt.	M <sup>2</sup>	45.0	184.80	8316.0
9	12mm c.p. (1:6)	M <sup>2</sup>	70.0	67.65	4735.50
10	B/w in s/s in cm (1:6)	$M^3$	5.82	2315.50	13476.21
11	25mm thick p.s. flooring.	$M^2$	30.20	120.59	3641.81
12	Brick on edge soling.	M <sup>2</sup>	373.0	282.73	105458.29
13	Filling in plinth with sand.	M <sup>3</sup>	17.20	301.50	5185.80
14	E/work over area cutting.	$M^3$	206.37	101.85	21018.78
15	Carriage of earth upto	M <sup>3</sup>	206.37	49.42	10198.80

1615147

RCC (1:2:4) precast slab	M3	1.07	2072.05	/
100 Harris - 100 H		Life theody to		7237.48
		140.0	42.7	5978.0
a linear	M <sup>2</sup>	7.15	187.35	1339.55
slab.				
Half brick work in cm (1:4).	M <sup>2</sup>	4.38	256.88	1125.13
P/F ceramic glazed tiles.	$M^2$	5.45	1043.75	5688.43
Steel work in single section	Kg	208.8	43.35 /	9051.48
single iron post.	-	5.05.05.05.05		-
Barbed wire fencing with	М	360.0	8.45	3042.0
G.I. barbed wire.	-5365	4-6-4-00-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-	President State Co.	30.2.0
P/L P.C.C (1:2:4) on wall.	$M^3$	0.10	3257.45	325.74
P/F water storage tank PVC	Lit	500.0	5.25	2625.0
P/F G.I. union				0
a) 25mm	No.	3.0	107.25	321.75
b) 15mm	No.	2.0	75.90	151.80
P/F wheel valve -25mm	No.	1.0	285.50	285.50
P/F G.I. pipe – 15 mm	No.	4.0	105.85	423.40
P/F PVC pipe			7000000	All resolution (at
a) 25mm	М	28.0	297.5	8330.0
b) 15mm	М	4.6	146.65	674.59
Making connection of G.I.	No.	1.0		166.05
distn.			8207280782	A SAN SAN SAN SAN SAN SAN SAN SAN SAN SA
Dismantling flooring.	M <sup>2</sup>	55.26	40.50	2238.03
P/F aluminium work for	Kg	112.0	306.30 🗹	34305.60
extended built up section.	Dect/.			
	Reinforcement for R.C.C.  Centering shuttering for slab.  Half brick work in cm (1:4).  P/F ceramic glazed tiles.  Steel work in single section single iron post.  Barbed wire fencing with G.I. barbed wire.  P/L P.C.C (1:2:4) on wall.  P/F water storage tank PVC  P/F G.I. union  a) 25mm  b) 15mm  P/F wheel valve -25mm  P/F Q.I. pipe - 15 mm  P/F PVC pipe  a) 25mm  b) 15mm  Making connection of G.I. distn.  Dismantling flooring.  P/F aluminium work for	Reinforcement for R.C.C. Kg Centering shuttering for slab.  Half brick work in cm (1:4). M² P/F ceramic glazed tiles. M² Steel work in single section kg single iron post.  Barbed wire fencing with M G.I. barbed wire.  P/L P.C.C (1:2:4) on wall. M³ P/F water storage tank PVC Lit P/F G.I. union a) 25mm No. b) 15mm No. P/F wheel valve -25mm No. P/F G.I. pipe - 15 mm No. P/F PVC pipe a) 25mm M b) 15mm M Making connection of G.I. No. distn. Dismantling flooring. M² P/F aluminium work for Kg	Reinforcement for R.C.C. Kg 140.0 / Centering shuttering for M² 7.15 / slab.  Half brick work in cm (1:4). M² 4.38 / P/F ceramic glazed tiles. M² 5.45 / Steel work in single section single iron post.  Barbed wire fencing with M 360.0 / G.I. barbed wire.  P/L P.C.C (1:2:4) on wall. M³ 0.10 / P/F water storage tank PVC Lit 500.0 / P/F G.I. union a) 25mm No. 3.0 / No. 1.0 / P/F G.I. pipe – 15 mm No. 1.0 / P/F G.I. pipe – 15 mm No. 4.0 / P/F PVC pipe a) 25mm M 28.0 / Making connection of G.I. No. 1.0 / Making connection of G.I. No. 1.0 / Making connection of G.I. No. 1.0 / D/F aluminium work for Kg 112.0 / P/F aluminium work for Kg 112.0	Reinforcement for R.C.C.   Kg

BL

1619109

	Demolishing b/work in lime	$M^3$	82.75	128.45	10629.23
33	mortar				
34	Demolishing R.C.C	$M^3$	8.0	537.55	4300.40
35	Demolishing c.conc. (1:4:8)	$M^3$	38.36	226.9	8703.88
36	Carriage of debris/ building rubbish upto 1.0 km.	M <sup>3</sup>	152.6	39.53	6032.27
37	Painting of articles fan & exhaust fan decorative light etc.	No.	23.0	20.0	460.0
38	Repairing of fan & exhaust	No.	3.0	250.0	750.0
39	P/F bibcock c.p. brass long nose	No.	3.0	262.05	786.15
40	Providing clothing & fitting in position, colouring of cloth sewing etc. complete.	М	20.0	255.0	5100.0
41	P/F ceiling rose.	No.	52.0	8.64	449.28
42	P/F 5 amp 3 pin plug socket.	No.	10.	48.0	480.0
43	Wiring for light fan point.	Pt.	12.0	305.0	3660.0
44	P/F conduit PVC pipe.	M	30	9.90	297.00
cheeked (8)				Total (Rs.)	3,21,368.42

Note: Add \_\_\_\_\_% above/below from the estimated Cost.

Area Civil Engineer Govindpur Area

Signature of the Contractor